CBCS STRUCTURE

HONOURS

SEM-1

> CC-1(6 CREDITS) **HONS** ➤ CC-2(6 CREDITS) ➤ GE-1(6 CREDITS) - PASS SUB(1)(Paper-1) ➤ AECC(2 CREDITS) - ENVS (COMP.) ➤ 20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES > 50+50+50+20=170(End Semester) > 20+20+20=60(Internal Assessment) \rightarrow 5+5+5+5=20(Attendance) \geq = 250 Marks SEM-2 ➤ CC-3(6 CREDITS) HONS CC-4(6 CREDITS) ➤ GE-2(6 CREDITS) - PASS SUB(1)(Paper-2) ➤ ENG/MIL(2 CREDITS) -COMP 20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES 50+50+50+20=170(End Semester) 20+20+20=60 (Internal Assessment) 5+5+5+5=20 (Attendance) = 250Marks SEM-3 CC-5(6 CREDITS) CC-6(6 CREDITS) HONS CC-7(6 CREDITS) GE-3(6 CREDITS) - PASS SUB(2)(Paper-3) **COMP** SEC-1(2 CREDITS) -26 CREDITS X 15 CLASSES FOR EACH CREDIT=390 CLASSES 50+50+50+50+20=220(End Semester) 20+20+20+20=80 (Internal Assessment) 5+5+5+5+5=25 (Attendance) **= 325Marks** SEM-4 CC-8(6 CREDITS) CC-9(6 CREDITS) HONS CC-10(6 CREDITS) GE-4(6 CREDITS) - PASS SUB(2)(Paper-4) SEC-2(2 CREDITS) -**COMP** 26 CREDITS X 15 CLASSES FOR EACH CREDIT=390 CLASSES 50+50+50+50+20=220(End Semester) 20+20+20+20=80 (Internal Assessment)

5+5+5+5=25 (Attendance)

=325Marks

SEM-5

- CC-11(6 CREDITS) HONS
- CC-12(6 CREDITS)
- ➤ DSE-1(6 CREDITS)
- ➤ DSE-2(6 CREDITS) Hons Spl.Papers
- ▶ 24 CREDITS X 15 CLASSES FOR EACH CREDIT=360 CLASSES
- > 50+50+50+50=200(End Semester)
- > 20+20+20+20=80 (Internal Assessment)
- \rightarrow 5+5+5+5=20 (Attendance)

=300Marks

SEM-6

- > CC-13(6 CREDITS) HONS
- CC-14(6 CREDITS)
- ➤ DSE-3(6 CREDITS)
- > DSE-4(6 CREDITS) Hons Spl.Papers
- **▶ 24 CREDITS X 15 CLASSES FOR EACH CREDIT=360 CLASSES**
- > 50+50+50+ 50=200(End Semester)
- > 20+20+20+20=80 (Internal Assessment)
- > 5+5+5+5=20 (Attendance)
- **=300Marks**

PASS COURSE

SEM-1

- ✓ DSC-1A(6 CREDITS)
- ✓ DSC-2A(6 CREDITS)
- ✓ ENG(6 CREDITS)
- ✓ AECC(2 CREDITS) ENVS (COMP.)
- ✓ 20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES
- \checkmark 50+50+50+20=170(End Semester)
- ✓ 20+20+20=60(Internal Assessment)
- \checkmark 5+5+5=20(Attendance)
- **✓** = 250 Marks

SEM-2

- ✓ DSC-1B(6 CREDITS)
- ✓ DSC-2B(6 CREDITS)
- ✓ ENG(6 CREDITS)
- ✓ ENG/MIL(2 CREDITS) (COMP.)
- ✓ 20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES
- ✓ 50+50+50+20=170(End Semester)
- \checkmark 20+20+20=60(Internal Assessment)
- ✓ 5+5+5+5=20(Attendance)
- ✓ = 250 Marks

```
SEM-3
       DSC-1C(6 CREDITS)
       DSC-2C(6 CREDITS)
       MIL(6 CREDITS)
       SEC-1(2 CREDITS) (COMP.)
       20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES
      50+50+50+20=170(End Semester)
      20+20+20=60(Internal Assessment)
      5+5+5+5=20(Attendance)
      = 250 Marks
    SEM-4
       DSC-1D(6 CREDITS)
      DSC-2D(6 CREDITS)
      MIL(6 CREDITS)
      SEC-2(2 CREDITS) (COMP.)
       20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES
      50+50+50+20=170(End Semester)
      20+20+20=60(Internal Assessment)
✓
      5+5+5+5=20(Attendance)
= 250 Marks
    SEM-5
       DSE-1A(6 CREDITS)
       DSE-2A(6 CREDITS)
       GE-1(6 CREDITS)(3<sup>rd</sup> Subject of Pass Group-1st paper)
       SEC-3(2 CREDITS) (COMP.)
          20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES
      50+50+50+20=170 (End Semester)
      20+20+20=60(Internal Assessment)
      5+5+5+5=20(Attendance)
      = 250 Marks
    SEM-6
       DSE-1B(6 CREDITS)
      DSE-2B(6 CREDITS)
      GE-2(6 CREDITS)(3<sup>rd</sup> Subject of Pass Group-2<sup>nd</sup> paper)
      SEC-4(2 CREDITS) (COMP.)
       20 CREDITS X 15 CLASSES FOR EACH CREDIT=300 CLASSES
       50+50+50+20=170 (End Semester)
      20+20+20=60(Internal Assessment)
      5+5+5+5=20(Attendance)
      = 250 Marks
```

Grade calculation

% OF MARKS(on the basis of FM 75)	LETTER GRADE	NUMBER GRADE
80>=(60)	0	10
70>= < 80(53-59)	A+	9
60>= <70(45-52)	A	8
55>= <60(41-44)	B+	7
50>= <55(37-40)	В	6
45>= < 50(34-36)	С	5
40>= < 45(30-33)	P	4

ATTENDANCE

% OF ATTENDANCE	MARKS
>= 90%	5
> = 80 < 90	4
>= 75 <80	3
>=70 <75	2
>=60 < 70	1

RULES OF EXAM(Under CBCS Structure of WBSU,Barasat)

- 40% in each paper separately.
- Clearance of all backlog before 6th semester.
- IA marks remain unaltered in case of backlog.
- Re-appearance for clearing backlog only when the corresponding course is offered.
- Shortfall in attendance will be made up only by attending classes in subsequent year and course.
- Re-appearance for improvement on foregoing previous performance in writing may be allowed in subsequent semester only. Example-1-3,2-4,4-6. (Only once per course is allowed for improvement. Request be made within 15 days of publication of result.)
- Student of 6th semester may reappear for improvement in the immediate subsequent semester.
- No supplementary exam.

CREDIT POINT CALCULATION

NUMBER GRADE X COURSE CREDIT = CREDIT POINT

> Suppose a candidate has obtained 59 out of 75.

His/her GP will be 9. A paper having 75 marks is a 6 credit course. So CP will be 9x6=54.

- \triangleright In another paper s/he has scored 40/75.GP will be 6.CP will be 6x6=36.
- ➤ In another paper s/he has scored 20/25. GP will be 10.

CP will be 10x2=20, since 25 marks course is 2 credit course.

➤ His/her SGPA will be- 54+36+20=110/14=7.86